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1. Answer any ten questions: 2x10=20

h) What is meant by inflation?
THPHITS TeTCe F (@RI 2

i)  Write two reasons for cost push inflation.

Q- Wi 2E Ted TS ¢

a) What is IS curve?

IS 9l e
b) What is LM curve? e W@ W E—d% I G
LM @l &2 J)  Define liquidity trap.
¢) If tax rate increases, other things remaining Liquidity trap f&?
the same in IS-LM framework, then ____ curve k) Which policy is effective in liquidity trap
shifts . situation?
IS-LM framework-4q =y 7w wivifzafds Liquidity trap~q (¥ a5l T Fwa =2
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Draw one short-run Phillips curve and one

long-run Phillips curve.
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2. Answer any four questions: 5%x4=20
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a)

b)
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Derive AD curve from IS-LM model.
IS-LM model (2t AD @t s <511

What is demand-pull inflation? What are the

effects of inflation in an economy?

BifEn-Jfaes Surfe F 2 weaiers mrafes
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Why monetary policy is ineffective in liquidity

trap situation?

O FW I G PG T
Derive tax-rate multiplier in Keynesian model.
T QT I (PEAA TG el 7 |

Explain the relationship between inflation and

unemployment in short run.
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3. Answer any two questions:

Explain the vertical shape of AS curve.

AS @R TeTy ST A 1 |
10x2=20
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a)

b)

d)
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Explain the effect on NI and interest rate of:

Ne (%@ AW @ NI-97 T Rese
39 ¢

1) increase in money supply
s @ Jfa (oA
i1) decrease in govt. spending
AT T ZPA (AT
Derive IS curve and explain its slope.
IS @l o/ S 932 T e [l 4 |
Show that long run Phillips curve is vertical.

@S @, AT Flerst @2l Torg = |

Distinguish between demand pull and cost-push

inflation.
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